
Visualizing the effects of outliers and influential cases using scatter plots
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1. Create a scatter plot of 10 cases with high positive correlation approximately .9. Print a screen shot. Paste it here. 

2. Add one case to the very right and lower corner, observe the change of the correlation coefficient and the change of the regression line (pay special attention to the change of the slope.) Print a screen shot, paste it here.

3. Compare the two graphs discuss the effect of the data point you add to the right lower corner. What type of the outlier is this data point?

4. Create 10 pairs of data points with one on the upper right corner, the rest show a high negative correlation, and the regression line has almost zero slope. Print a screen shot and paste it here.

5. Delete the upper right corner case, Print a screen shot and paste it here. 

6. Compare the two scatterplots in (4) and (5), and discuss the effect of deleting the upper right corner in terms of correlation and regression line. What type of outlier is this upper right corner data point?
7. Create a caster plot of 10 data points so that when you delete one of the data point, the correlation increases dramatically. Print a screen shot and paste both scatterplots here. Then, discuss why the case deleted increases the correlation and observe how the slopes are different. 
8. True or False:

(a) When adding a pair of data from a scatterplot, the correlation will always increase.
(b) When deleting s pair of data from a scatter plot, the slope can not decrease.


(c ) When deleting an outlier case, the slope will always change dramatically.

(d) When adding an outlier case, if the slope does not change much, but the intercept changes a little bit, then, this case is the Y-outlier case.

(e) It is possible that when deleting an outlier case, neither slope nor intercept changes dramatically.

